Use the following to answer question 1.

 Suppose that a particular candidate for public office is in fact favored by p = 48% of all registered voters. A polling organization is about to take a simple random sample of voters and will use [image: image1.wmf], the sample proportion, to estimate p.
 1. Suppose that the polling organization takes a simple random sample of 500 voters. What is the probability that the sample proportion will be greater than 0.5, causing the polling organization to predict the result of the upcoming election incorrectly?
 A) 0
 B) 0.185
 C) 0.212
 D) 0.5
Use the following to answer questions 2-3.

 A comprehensive report called the Statistical Report on the Health of Canadians was produced in 1999.  In it was reported that 42% of Canadians, 12 years of age or older, had their most recent eye examination within the previous year.
 2. If a random sample of 20 Canadians in this age group were selected, the probability that 6, or 30%, of the selected individuals would have had their most recent eye examinations in the previous year would be
 A) [image: image2.wmf].
 B) [image: image3.wmf].
 C) [image: image4.wmf].
 D) [image: image5.wmf].
 E) [image: image6.wmf].
 3. What is the approximate probability that the count of the number of people in the sample of size 100 who had their most recent eye examination in the previous year is more than 38?
 A) 0.791
 B) 0.271
 C) 0.729
 D) 0.209
 E) Not within ± .03.
Use the following to answer question 4.

 The scores of individual students on the American College Testing (ACT) Program Composite College Entrance Examination have a Normal distribution with mean 18.6 and standard deviation 6.0.  At Northside High, 36 seniors take the test.  Assume the scores at this school have the same distribution as national scores.
 4. What is the standard deviation of the sampling distribution of the sample mean score for a random sample of 36 students?
 A) 1.0
 B) 3.1
 C) 6.0
 D) 18.6
Use the following to answer question 5.

 The weights of medium oranges packaged by a producer are Normally distributed with a mean of 14 oz and a standard deviation of 2 oz.
 5. Ten medium oranges will be randomly selected from a package. What is the sampling distribution of the sample mean weight of a random sample of ten medium oranges?
 A) N(14, 2)
 B) N(14, 0.63)
 C) N(14, 0.2)
 D) N(1.4, 0.2)
Use the following to answer question 6.

 The weights of extra-large eggs have a Normal distribution with a mean of 1 oz and a standard deviation of 0.1 oz.
 6. What is the probability that a carton of a dozen eggs weighs more than 13 oz?
 A) 0.0000
 B) 0.0019
 C) 0.1814
 D) 0.2033
Use the following to answer question 7.

 A variable has a distribution with mean m = 50 and variance s2 = 225.  From this population a simple random sample of n observations is to be selected and the mean [image: image7.wmf] of the sample values calculated.
 7. If the variable is known to be Normally distributed and the sample size used is to be n = 16, what is the probability that the sample mean will be between 48.35 and 55.74, i.e., Pr{48.35 £ [image: image8.wmf] £ 55.74}?
 A) 0.393
 B) 0.607
 C) 0.937
 D) 0.330
 8. In the construction industry, compressive strength of concrete is a crucial characteristic.  Suppose for a particular residential construction job the concrete tested after 3 days should have a mean compression strength of m = 3000 psi with a standard deviation of s = 50 psi.  It is known that compressive strength of concrete is Normally distributed.  On a construction site a sample of n = 5 specimens is selected and tested after 3 days.  If the concrete has the desired characteristics what is the probability that the sample mean [image: image9.wmf] will be larger than 3060 psi?
 A) 0.996
 B) 0.004
 C) 0.885
 D) 0.115
 E) Unable to determine because the sample size n = 5 is much too small to rely on the Normal distribution for calculation of the required probability.
Use the following to answer question 9.

 Let X represent the SAT score of an entering freshman at University X.  The random variable X is known to have a N(1200, 90) distribution.  Let Y represent the SAT score of an entering freshman at University Y. The random variable Y is known to have a N(1215, 110) distribution.  A random sample of 100 freshmen is obtained from each university. Let [image: image10.wmf] = the sample mean of the 100 scores from University X, and [image: image11.wmf] = the sample mean of the 100 scores from University Y.
 9. What is the distribution of the difference in sample means between University X and University Y: [image: image12.wmf]–[image: image13.wmf]?
 A) N(–15, –20)
 B) N(–15, 14.2)
 C) N(–15, 142.1)
 D) N(–15, 200)
Use the following to answer question 10.

 During the summer months, the prices of nonsmoking rooms with a king-size bed in hotels in a certain area are Normally distributed with a mean of $131.80 and a standard deviation of $29.12.
 10. A travel agent randomly selects prices of nonsmoking rooms with a king-size bed from 15 hotels in the area. What is the probability that their average cost will be more than $150?
 A) 0.0077
 B) 0.1125
 C) 0.2660
 D) 0.3678
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